E - : <

3= ; 2 = i g

P 4= ZEH(E| = g1y |8

Miecro 8 |88 |5 E $EI5| 8 EE g | Z

z (SE|E|E|E |EE|E|E| 2R (2|8

£ \E-S|F| 87|53 % |&|E

S o T S B 28 - e S A S

Byrono . ..... f B0 s 1= 4]k S L] g200] — !
Cytams ;... 2.0 L 8 diw{ | }] - HBY Ll 4 800/ 1| 1
RooayE®, . ... ./ 1601 4l | (pl LB L o061 z
Rosamases .. ... 125 Y b 6 — 800 — —
ECKRBI-KWi . . . . .. 93 1 1 10 1000{ 1| 1
BAeXHa: |, in . o 65 3 B | b) - 700{ 1| ¢t
Mt Apa | At 56 e ) —| 600} 1| —
Macamaie....... 40 1|—| 1 5, —| 600[ 4} —
Capas-10p1sh . . . .. 1200t 1l = | 1000f. . 4 4
Xac-o6a ....... 30| - H—| 1] 1 S —| 1200{ 1} &
Eaeaeps ..... .. Dol gl g t0bes = | 1900 1] 1
Ep-obacn . ... .. B P T | B CAbE == —| 1000| 1| 2
Yamypaie . . .. ... &8sk | i+ 1'0‘ “‘T{ —| ¢ 9004f. A} 2t
Tpamasaie . . . . .. - 105 U= 1 10/ —«»‘ | —| 1000, — —
OBapKuKs . . . . . . 120 =1 0] ——f 1000{ —| 4
Tepuoso ... ... el REi }-'Jﬁj— 1200 1| 1
Maako-Epeamunn|  ¢5| U= 1 ’§_, w’-g-— 800, —| —
Pepaama .. ... .. 105 L-—-‘ 1  10f R 800 1| .1
Rapa-Opmans, .. | 1800 ° = 1] 200 = | 1800 1], .t
Yaynaixeso . . . .. LR85 L= ] gl :i-ps—— 1200 1| 1
Raspmurs . . . 1101 L= 4] 0| == —| 1000 —| 1
Aobpuus ... . ... S 12 =g el -g—g~~—— 1000 1
Amvaaie. ... | Sgp0l & yls(l BOE ==l —| 1500 1| 3
0xcrosaeps . . .. L 150) = | R0 === —| 1200 1
TR L, L 85 e e o [ | Sy o (RS
Mioceanms . . . . 881 L 4271 (e e (4 SR |
Aau-6eii-xiojf . . | S R et B R (G S RS (S T
Rapakawp ., . .. 95| —|—| —| — — — | =] =
Capunus . .. ... e B o b | S R R T | B
gl ... ] q9h SRR ——] =] — | =] —
Tepanx, . ... .. r B == = — - = = —
Wuoaie ... . £ 12| —|—| —] — — — | —| —
Cyaomacs . . . . .. 30]. —f—| [ R T T

Foatmo  Epea-| -

AWML, 0G0 0L 108 —|— —| — — - | = 4
Kapacaapas . . . 40] . —f—1- R M et b | s
Ragaie . ., . .. 130} - ——| 2=[F i =3 C i e

‘ ’ :
6644{ 26| 1] 39] 965 1| 1100 63300 26 27
| | i | %




